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SN AT
Mz olohaA H|
SH9l: Q10KE JfA CEEED
SN EHH.C(E) - NHEAY - BYS Ofl &F o8 gg;ﬁ; HRE2
oS4 Akt 12,652,277 15,908,843 3,256,566
= 238,080
= 4,254,880
2 183,000
= 920,612
= 7,055,705
o1 o £ 2 F | 208,790 1,278,950 A1,070, 160
olote I 203,600 1,203,000 999,400
ol0t & Al BT 200,600 100,600 100,000
201 Ysr gyl 600 600 0
01 ALl 600 600 0
O o8| 600
— ZR+Y =Y 242 200,008 * 321 600
401 A&HILLOY 200,000 100,000 100,000
01 Al&H 200,000 100,000 100,000
O HASZIHA (Y HE ~ ALE) 200,000,002 * 14 200,000
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201 Ysr2 gyl 3,000 2,400 600
02 B2 3,000 2,400 600
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5,000, 000&
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1
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10,000,000&
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30,000
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S AT
M s BME A5
Sl AMAES KR (B9 @8
S HH - S(BH) - HEAY - BE=2 Off &+ o4 glggi; HRZ2
O Ol & 242 Q1) &3 50,000,008 * 1CH * 80% 40,000
% H 100,000 0 100,000
= 50,000
2 50,000
100,000 100,000
= 50,000
2 50,000
100,000 100,000
50,000,0002! * 294 4 100,000
2 50,000
2 50,000
2,175,000 82,000
= 1,222,000
= 101,500
2 851,500
= 675,000 A1,418,000
= 472,000
= 101,500
2 101,500
L 675,000 A810,000
= 472,000
= 101,500




M o 2= 4H1
HH: A M 2
CHol: SR B BHE A ST
SN BB O (SH) - MRAY - HES Akl e =
401 AlEHIYL 204 = 101,500
01 Al&H 670,750 1,479,673 808,923
O HESEMEAMS 670,750,000& * 14 670,750
s 469,025
== 100,862
i 100,863
03 Al&=CHYI 4,250 5,327 A1,077
O =S AL (675,000,0002 * 0.63%) 4,250,000& 4,250
iy 2,975
& 638
i 637
HLHANBSATHAS(RE) 1,500,000 0 1,500,000
s 750,000
i 750,000
401 AlEHIL 204l 1,500,000 0 1,500,000
s 750,000
= 750,000
01 A&l 494,600 0 1,494,600
O HLHANSEY 1,494,600,0002 * 14 1,494,600
s 747,300
o 747,300
03 AlE=CHYI 5,400 0 5,400
O HLHAIZSFA XA S0 1,500,000,000& * 0.36% 5,400
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s 2,700
o 2,700
o= 4F & DI 25 2,288,824 3,370,230 A 1,081,406
83,080
= 183,000
& 250,780
= 1,771,964
= O M A X & 1,328,014 2,414,710 A 1,086,696
= 183,000
& 48,360
= 1,096,654
ME OHEMA TR 8,150 7,810 340
201 ptEd] 2,390 3,490 21,100
01 AtS2teldl 2,390 3,490 21,100
O git=Z| 990
— T2y & 990
O =&l 1,400
— gAY 1,400
202 (4l 5,760 4,320 1,440
01 =2UWabl 5,760 4,320 1,440
O HHMMARE 20,000 * 4% 5,760
2t2M O] K& 25,000 50,000 A25,000
402 QI2tXH201A 25,000 50,000 225,000
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off @F <=4k 1t
Ao MA OlE E
oS HE ML KR CHol & Sl
SN HE - SI(E) - NRAY - BES e =2
ADJIBIAIE X (23) 240,000 240,000
2 183,000
= 57,000
402 QI2tXHE0IH 240,000 240,000
= 183,000
= 57,000
01 BIZEXI=22 X 240,000 240,000
O &&d o 24 I X 1,000,000& * 300ha * 80% 240,000
= 183,000
fia 57,000
Sob A 2A FH 564,304 564,304
401 Al&HI LY 106,000 106,000
01 A&l 106,000 106,000
LA 2 kAl Al CCTV &XI(HE) 25,000,000& * 444 100,000
So Z A e E A X 400,000& * 15084 6,000
402 212t XHE0IH 458,304 458,304
01 Q2tR=8=x 458,304 458,304
FRA A LA NSRS B2 985,600& * 300ha * 80% 236,544
A4 2 24 ge=2 35 924,000& * 300ha * 80% 221,760
kAl A Heldl =A™ 25,000 25,000
401 Al&HI LRI 25,000 25,000
01 Al&H 25,000 25,000




M o 2= 4H1
M AMS MM I8 DS
ool aA2 OE MM K@ G=EE-E)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
O A ArHEIl =H K eldl 500,000& * 50CH 25,000
TEE HZ LA og3 LA N3 (=Hl) 10,000 0 10,000
= 5,000
= 5,000
402 QI2tXE201H 10,000 0 10,000
& 5,000
= 5,000
01 BIZEAI=22 X 10,000 0 10,000
O 2AID|XHH RI& 12,500,000& * 80/100 10,000
& 5,000
i 5,000
Hetd I LA HGAGH X2 (=hl) 19,200 0 19,200
& 9,600
= 9,600
402 QI2tXE201H 19,200 0 19,200
& 9,600
i 9,600
01 BIZEAI=22 X 19,200 0 19,200
O 24l JIXHH K& 24,000,000& = 80/100 19,200
& 9,600
= 9,600
et HES LA HPZGM XA (=) 67,520 0 67,520




S ST
HE: aM2 MM I RS
CHOl A2 QIHMAL K| (S92 & e)
SA-HH . C(BH) - HREAY - BYS Off &k 0t aﬁiﬂgﬁ HRE2
HHE HESVA OABYX X (ZHI) = 33,760
= 33,760
402 QT =0|A 67,520 0 67,520
= 33,760
= 33,760
01 DIATEEE 67,520 0 67,520
O A I K& 84,400,0002 * 80/100 67,520
= 33,760
= 33,760
UHAOIE WY U 22 960,810 955,520 5,290
= 83,080
= 202,420
= 675,310
HEAANE HY X2 242,000 130,000 112,000
402 QT =O|A 242,000 130,000 112,000
01 DIAT=EE 242,000 130,000 112,000
O 1DOrekA 3,000,000& = 20ha * 80% 48,000
O HhXI2H Al 3,000,0002 * 10ha * 80% 24,000
O Mool 1,250,0008 * 10ha * 80% 10,000
O JIEMHEINE & XAALK 70,000,00020 * 1944 * 80% 56,000
O MZEMHLA 3,000,002 * 10ha * 80% 24,000
O HE YSAL(2HoA) &3 50,000,0002 * 24 * 80% 80,000
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S M ol &= At
I AR A DU D=
el AOIE JHE el (el @)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
DAIHIIDIZ2AIERE2FH(EHI) 360,000 420,000 A 60,000
= 180,000
o 180,000
402 QI2EXE0lN 360,000 420,000 60,000
= 180,000
o 180,000
01 IZX=2BEX 360,000 420,000 260,000
O BAIHI| JIZ2AIE K& 600,000,000& * 60/100 360,000
& 180,000
= 180,000
HBEUAZ ASH XK (EH]) 19,250 61,600 N42,350
== 7,700
o 11,550
402 QI2EXE20lN 19,250 61,600 A42,350
= 7,700
iy 11,550
01 QIZEE2EX 19,250 61,600 N42,350
O L& ASH 38,500,000& = 50/100 19,250
T 7,700
= 11,550
22AFAA A=HI(EHI) 5,400 8,640 N 3,240
= 2,160
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M o 2= 4H1
HE: SA2 M DB E
el AOIE JHE el (el de)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
Ol kAl JHEE JIREM 22 40,000 0 40,000
402 QI2tXHE201A 40,000 0 40,000
01 BIZEAI22 X 40,000 0 40,000
O DIF&A HEREDL B= 1,000,000& * 50ha * 80% 40,000
OHAH0| 2FAl DX =2 38,400 0 38,400
402 QI2tXHE0IA 38,400 0 38,400
01 BIZEAI=22 X 38,400 0 38,400
O HMOoI2ZA DI S5 1,200,000& =* 40ha *80% 38,400
e 22 22 X3 (24l) 125,600 0 125,600
= 62,800
L= 12,560
= 50,240
402 QI2tXE201H 125,600 0 125,600
= 62,800
& 12,560
= 50,240
01 QIZIRI=2E2 X 125,600 0 125,600
O LAD|I XM X 314,000,000& * 40/100 125,600
= 62,800
& 12,560
o 50,240
=42 JIS"SHM K& 4,385,000 5,692,500 A 1,307,500
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FA: At
& 2RsHH X&
=k S g ¥ 2 chol E )
SN EY O (BH) - MR - Ba= Aol Bl =2t
01l &
2 0lZAAE 2SAM (2 s 96,000
= 96,000
402 RI2HXHE0IA 192,000 192,000
s 96,000
= 96,000
QIZIXIE2E X 192,000 192,000
O =42 0l AIZE D13 K& 240,000,000& = 80/100 192,000
s 96,000
o 96,000
A2 EE o Zet Al 102,000 102,000
2 et | 2,000 2,000
At 2tell 2,000 2,000
O FgaASATE AR 2,000,000 = 14 2,000
AN&HI LSO 100,000 100,000
ATl 100,000 100,000
O & Hot Xl &XI 100,000,000& = 1J4 A 100,000
2 2]IJIX XA (ZS) 600,000 600,000
s 300,000
= 300,000
402 QI2HX 201 600,000 600,000
s 300,000
= 300,000
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2N
X XH -
S Tt

o2l

m
40
E
{0

CEHRI(E) - HRANY - BAS 01l &k o ais H DS 2
0l &+
QIttEE X 600,000 0 600,000
B 2 SJMH A4 XA 600,000,000& * 1JHZA * 100% 600,000
s 300,000
o 300,000
NFBAE NNE 2,224,000 5,650,000 A3,426,000
s 1,050,000
= 1,174,000
HEAA 60,000 100,000 A 40,000
QIZ2tAr=0l A 60,000 100,000 240,000
AEEX 60,000 100,000 40,000
2 DHAMOl M2HEAE XA 1,515,150& * 49.5m" = 80% 60,000
IS AE( 700,000 3,900,000 A 3,200,000
s 350,000
= 350,000
QIZEX =0l 700,000 3,900,000 23,200,000
s 350,000
= 350,000
A2 E X 700,000 3,900,000 3,200,000
O &S AXIILSAIE A S 1,166,666,0002 * 60% 700,000
= 350,000
i 350,000
S CHSHAL 1,400,000 0 1,400,000
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Al AT}
Mo A2 IBREMM XS
ol A4H2 JIBAIM XE Y 2 (B2l & 2)
SN B 2(3) - HEAY - BHES Off &k 04 aﬁiﬂgﬁ HRE2
LNBBHEUSAIL (RS) o 700,000
2 700,000
402 SIREXH=OIA 1,400,000 0 1,400,000
= 700,000
2 700,000
01 BIARp=EE 1,400,000 0 1,400,000
O 2NEZFHUB ALY 2,333,333,0008! * 60% 1,400,000
= 700,000
= 700,000
HER JIBAIL B3 64,000 0 64,000
402 SIREXHOIA 64,000 0 64,000
ETEVELEN 64,000 0 64,000
O 0% U=(SF) =% Alg N 40,000,0002 * 244 * 80% 64,000
My T e 1,522,431 502,753 1,019,678
2 105,000
= 519,880
3 117,689
2 779,862
WLaaTE T8 o el 532,501 315,603 216,898
=2 105,000
= 119,880
< 92,689
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AT Chol E )
SN EY O (BH) - MR - Ba= Aol e =2t
— 2d71, dioitt S 1,400,000& * 70/100 980
O Xtg &gy 39,928
— HEXNTH 2145 SEHH] 39,928
2= 1,400& = 0.112¢  4600t= * 4h » 95 27,409
S 29,366,000& * 6.6/100 1,939
DN Y] 90,000& * 10& 900
Jl 2R X8l 10,0002 * 4AI2F = 95& » 2[H 7,600
HES & &7l 28,000& * 10& 280
b r=gwl ya 900,000& * 23| 1,800
202 Oidl 9,600 9,160 440
01 =LHHHI 9,600 9,160 440
O 280g XS oyl 20,0003 * 3% » 5& » 123 3,600
O 280g g3t oyl 50,000& » 1H = 10& = 123 6,000
SMNBR LYY (ZS) 171,258 85,714 85,544
s 119,880
& 25,689
= 25,689
206 =Yl 171,258 85,714 85,544
s 119,880
& 25,689
= 25,689
01 TH=ZHI 171,258 85,714 85,544
O HHEEE HYEFAS 171,258
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or A At
A THRISE 2
GapTiE RN L B2 el H
SN EB - SR(BH) - MBAY - B e =32t
— MBI 0LE= 171,258,000 * 14 171,258
e 119,880
T 25,689
= 25,689
X2 Z=H R FAS (=2H]) 189,000 180,000 9,000
= 105,000
= 42,000
o 42,000
402 QI2ENE0lN 189,000 180,000 9,000
= 105,000
= 42,000
o 42,000
01 Q228X 189,000 180,000 9,000
O Hgxaae 2sHAH 105,000,000 = 2I9HA = 90/100 189,000
= 105,000
== 42,000
= 42,000
EQAE 43 A 2Y 3,990 0 3,990
201 B2 HH| 490 0 490
01 AtR2t2ldl 490 0 490
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03 SHAISGHI 1,665 1,415 250
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